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1.

The intermediate host of malaria
parasite is

(a) Man

{8) Female Anopheles
{C) Culex

(D) Tse-tse fly

All of the following are types of
Leucocytes, except :

(A} Lymphocytes
{C) Eosinophils

(B) Monocyte
{0} Erythrocytes

What is the scientific name of national
bird of India ?

(A) Psitracuio eupatra

{B) Passer domesticus

(C) Povo cristatus

(0} Corvus splendens

The fleshy leaves of onion store
{A) oxalic acid and its salts

{B} carotene and xanthophyll
(C} awxins, sterols and vitamins

(D) carbohydrates

Cuscuta i1s an example of
{A) nsectivorous

(B) total stem parasite
(C} acommensal

{D) asymbiont

National Botanical Research Institute
{NBRI) is focated in

(A) Kolkata
{C) Lucknow

(B) Mumbai
(D) Coimbatore

S.1. umit of angular momentum is
{A) rad/s’ {8) kg.m’s

(C) kgm/s r\ty rad/s.
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The work done against gravity when a
body 15 moved horizontally along a

fnct\:oniesf. surface 1s

(A) “tero {8) G _J;__..
’ i

() G (0} 36

X-ray region hes in between
(&) Short

region
Visible and ultra-violet region

radio wave and wisible

(B)

{C) Gamma rays and ultra-violet
region
(D] Short radio waves and ultra-violet

region

an glement with atomuc number 20
will be placed in which period of the
periodic table 7
Ay 5

{€)

(8) 4
(D) 2

Electrolysis of aa NaCl produces
(B)
(0) None

(&) Acdity Alkalinity

(Cy (A} & (B} both
Which of the following contains both
wonic and covalent bonds 2

(A} HOH

(A)] NalH

() €, H.Cl (D) €O,

A can do a work in 6 days B takes
12 days C takes as long as A and B
would take working together. How

long will it take B and C to complete

L]
the work together ?
{A) 8 days (B} 3days
(C) 4 days (D) Noneofthese
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14.

15,
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18.
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By selling salt at ¥ | a kg, a man gains
10%. By how much rnust he raise the
price so as to gamn 219% ¢

{A) 20 paise (B) 10 paise

{C) 30 paise (D) Moneof these

A can copy 75 pagesin 25 hes Aand B
together can copy 135 pages in 27 hrs.
in what uime can B copy 42 pages ¢

(&) 18 hrs (B) 23 hrs

(€) 21 hrs {0} 48 hrs.

Who was the developer of evaluation

scheme ol lgsson-plan ?

(&) Mornson

(B} Bloom

(C) Herbert

(D) Regional
Myzare

Educational  College,

How should the students be taught the
Science subject ?

(4) By ziwing the questions answers
(B) By showang practical

(C} By teaching ininteresting way

(D) Prachiczls are being done by the

students

If two students are quarrelling in the

ground, (hen you wall

(A} Beat both of them.

(B) threaten and separale them.

(C) know the cause and pive
punizhment to culprit

(D} go sdently from there

The Arabian Sea and Lhe Persian Gulf
are cannected by the

{A) Palk Strait

{B) Strait of Bab-el-Mandeb

() Hormuz Srait

(0} Strant ol Messina
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11 20, Famon Magsaysay award 1s named
siter the former President of
—"I‘ Frshppines
(B) Thaland
INOGREsia
() Mone ol these
21 Disolunon of the Stale Legislative
Locembly before the expiry of s term
1 he brougnt about by
(2] the Soeaker of the Assembly
R0 the Chiel Mimster
Governor
L cectmird majonty wote of the
rmembers of legislative assembly
22, The slave king who got the title
Lakh Baksh wa
Wf | rish (BRI Rana
Juthigdin sibak(D) Balban
ent members of
he United Mations Security Council
) C “runa,  France, UusSaAa,
b mee Pussia, U SAL UK
) par faermnany, Russia, U.S.A,
LI |
\/u Cermany Ching, Russia, UusA,
(N

24 Justice firath  Singh  Thakur

appointed the Chief Justice

afindia in December 2015,

Ay 417 (B) 42"
o 33" (D) 44"
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25.

26.

27.

28.

29.

in which of government's list Is
‘Library’ included ?

{&) State list

(B} Centre list

{C) Concurrent hst

(D) MNone

If MOBILITY is coded as 46293927,
then "EXAMINATION' 1s coded as

{Aa) 87250623076
{B) 56149512985
(C) 45038401854
(D} 57159413955

How many 7s are there in the
following  sequence, which are
immedhately preceded by 1 and not
immediately followed by 3 ?

9.85173176548637 711,

46 1.7 59317446173,
3,7.81.7. 2

{a) 1 (8} 2

iy 3 (D) 4

In the following question which one
of the answer will fill the (7} so that
relation  between the first two
objects may be the same as that
between third and fourth ¥
Light Heavy  Glad  (7)

(&1 Cheerful {8} Joy
(C1 Gloomy (D) Anger

mn the tollowmng question, there are
four groups of letiers, three of which
are sirular in some respects while
one 15 different from the rest. Find
aut the different ane

A} CRo (8) Ofu

(CI Kel (D) RCD

25.

26.

27.

28,

29.
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30. |If ‘cook’ Is calted ‘butler’, 'butler’ is
called ‘'manager’, ‘manager’ is called
‘teacher’, ‘teacher’ is called ‘clerk’
and ‘clerk’ is called 'principal’, who
will teach in a class 7

{A) Cook {8} Butler

{C) Teacher D} Clerk

31. Sudhanshu is as much older than
Kokilz as he ts younger than Praveen.
Mitin is as old as Kokila. Which of the
following statements is wrong ?

{A) Kokilais younger than Praveen,
(B} Nitin is younger than Praveen.
{C) Sudhanshu is older than Nitin.

(D) Praveen is not the oldest.

If you count 21 letters in the English
alphabet from the end and 20 letters

32.
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30. aft ‘cook’ H ‘butler’ TR AW ¥,
‘putler’ T 'manager’ T FH £,
‘manager’ ¥ ‘teacher’ & AW z
“teacher’ W ‘clerk’ F& TATHT? i
elerk’ @1 'principal’ FE S ¥, @ ==
T o T ?
(A} Cook
(C) Teacher

(B} Butler

42T Clerk
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from the beginning, which letter will WHR T E@W % dF T | AR
appear exactly in the middle of the FET P G 2 ) et
sequence thus formed ? (A) N 8 L
Y (A) N :g)} L € K i
GCE M |\ ,
- © Q.o B s 6 ov ey
# £ ? _,-'-?C \}J @ ? - 2 J
oAl 2 AE TR . . .
£ }33 15 ~ /256 . o/ 1.5 256 e =
(A) 192 (B) 432 2 @) a2 2{FE
(C) 288 (0) 122 (C) 288 o2 /9!
“~34. Two pipes X and Y can fill a cistern in X 3R Y T Iy T R W RS
{24 min. and (32 min. respectively. If fime 3k 32 e o 'R‘flﬁi\'i' !
e both the pipes are opened together, - 2t TRY UF WY g ), @ fﬁﬁm
L then after how much time Y should be - qEY B I mﬁqmﬁ;zﬂ
1 closed so that the tank is full in 18 18 e & w2 %
= ::Jnu;e;; (8) 8min 9Ll | AA shee (e) 8% }
i (C) 10 min. (0) 12min. 4 [ Léf_)[:{}-m (o) 22 , T
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35.

3s.

37.

38.

39.

40.

If the side of a square is increased by
25%, then how much percent does its
area get increased ?
(A} 125

(C) 50

(B) 156.25
(D) 56.25

If a man's rate with the current is
12 km/hr and the rate of the current is
1.5 km/hr, then man’s rate against the

current is l{g' "
(A) 9 km/hr PP
(B) 6.75 km/hr M
(C) 5.25 km /hr

—_— [,

(D) 7.5 km/hr

A train takes 5 seconds to pass an
electric pole. If the length of the train
is 120 metres, the time taken by it to
cross a railway platform 1B0 metres
long, is

i

1
2s&{:-::mds {B) 72$econds

(A) 12

1 1
{C) Esseconds (D) 3'§second5

What least number must be
subtracted from 1936 so that the
remaingder when divided by 2, 10, 15
will leave in each case the same
remainder 7 ?
(A) 53

(C) 44

(8) 39
(D} None of these

The average weight of 50 balls is 5 gm.
If the weight of the bag be included the
averape weight increases by 0.05 gm,
what is the weight of the bag ?

{A) 5.05 {8} B.05

{¢) 7.05 (D) 7.55

The colour of cow’s milk is slightly
yellow due to the presence of

(A) Xanthophyll (B} Riboflavin
{C) Ribulose {D) Carotene

b,
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German Silver is an alloy of
(A) Silver and Copper
(8) Silver and Aluminium

o8 WCopper, Zinc and Nickel

43. A piece of ice floating in 2 glass of
o water when melts comgpletely, the
H level of water
—F (a) will rise
e {B] will lower down
o (C} will be the same
o=
L (D) cannot be determined
—
- 44, Which one of the foilowing is called
’ the "digestive bag’ in the cell ?
pA g (A} Golgi body
{8} tArtochondria
{C) Ribosome
I . 5
r {0} Lysosom
= a5. Whao discovered Solar System ?

E ! {A) Newton o — § %
E (B} Jchn Hadley . qup
) (C}) Copermcus o )

E’ (D) Galileo ¢l —
46. The phenomenon  of light
QB’L associated with the aPpearance of
tlue colour of the sky is o
_ (A} Interference 3 "1
g (8) Reflection {
Iqj { {C) Refraction f‘j—'.’f’f
;‘-‘_ (D} Scattering M/‘;( 6
#j.f-_.im_.ls {cat. No. 01) ﬁ?

(D} Nickel and Aluminium

What happens toc a person who
receives the wrong type of blood ?

(A) Al the arteries constrict.
(B) Al the arteries dilates.
(C} The RBCs agglutinate.
(D) The spleen and
deteriorate.

lymphnodes
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English Language
47. Find the correct spelt word,
_(A} Indispensable {B) Indispansible
(C) Indespensable (D) Indispensebie

48. Choose the most suitable ‘one word’ for
the following phrase/expression. One
who totally abstains from alcoholic drinks

F Puritan {B) Samaritan

JC) Pedant «4B) Teetotaller

48. Choose the one which best expresses the
meaning of the given idiom/proverb.
A Snake in the grass
4T Secret or hidden enemy
(B) Unforeseen happening
(C) Unrecognisable danger
(D) Irreliable’ person

iy

50. We are justified in accusing him
theft_(Fill in the blanks)
- (A) for (B)with (C) dueto (D)of

51. Pick out the word that are maost
dppropriate antonyms of the given
capitalized word :

RETROSPECT
(A) recollection 48T review
{C} reminiscence [[H prospect

52. In the following question, a sentence has
been split into six parts, The first and the
iast parts have been numbered 1 and 6.
Remaimng four parts have been named P,
C. R and 5. While parts 1 and 6 are in
proper sequence, parts P, Q, R and 5 have
been jumbled up. Rearrange the jumbled
parts to make a meaningful sentence,

1 FPakistan cannot claim to

7 not done too badiy

7 bartlefreld but it has

R overindiain the

5 have any decisive victory

6 nthe publicity war,

(4) SOPR.- A48T SRQP
() PRSO, (D) QPSR L

53. The foliowing sentence has been broken
in three parts (A), (8) and (C). If there is
some grammatical error in any of these
parts, that is your answer. If there is no
error, then the answer is (D).

He 1s man / which | know
18} (B)
you can trust. . No error

(C) / (D)

10
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§1. Siswal culture spread over the area of
(A} Hisar

(B) Ambata
(C) Jhajjar
(D] None of these

62. Match the following :

List - | List—1l
A. Kanuwa Fair 1. Faridabad
B. Fair of Bhakt 2. Gurgaon
Pooranmal

C. SachchaSauda 3. lJind

Fair

D. Fairof Chhadies 4. Karnal
(sticks)

Codes:
A B C D

(A) 1 2 3 4

{B) 4 3 2 1

(C) 3 1 2 4

oy 4 2 3 1

63. The coins of Indo-Greek rulers were
found in

{A) Sonipat

(B} Bhiwani

(C) Rohtak

(D) None of these

64. Who was the ruler of Rewari during
the period of famous Mughal
emperor Akbar ?

{A) Rao Tula Ram
(B) Karna Singh
(C) Hemchandra (Hemu)
(D) Fool Singh
3/2015 (Cat. No. 01)
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61, e st fre fore e ot 7

(f fewm

(8) T
{C) T
(D) &
62. gifem FifwC:
q -1 -1
A, T A % 1 W
p. ¥ QN W el 2. T
C. e Wy wer \3. Eic-t
p. sfedimden / 'a W
FE:
A e\ € P
A}y 1 2 3 4
/,m/a 3 2 4
Ny 3 1 2 &
oy 4 2 3 1

63. EoiE Tra % foas fw faat o foredt
£
(A) W
A8 fart
(C) oo
(D) ¥ e

64. TR T VG SR % Gy A Y&
wAGEITA@?

(A) AT W
(B), wiféw
AT = @
(0) geide
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65,

66.

&7.

68.

69.

Match the leaders of the revolution
of 1857 with the places from where
they led it :

List -1 List — 1l

(Place) (Leader)
A. Panipat 1. Imam Ali Kalander
B. Rohtak 2. Bisarat Ali
C. Hisar 3. Mohammad Azim
D. Rewari 4. Rao Tula Ram
Codes :

A B C D

(A) 1 2 3 4
(B)y 2 3 4 1
© a4 3 2 1
(D) 1 3 2 4

Geeta Jutsi, the famous player of
Haryana is associated with

{A) Chess

{B) Weight Lifting

{C}) Lawn Tennis

(D) Athletics

Accerding to Haryana Government's
Sports Policy, 2015 the amount of
money will be given to a gold medal
winner in the Commonweaith Games is
(A) ¥ 1.5crores

(B) T 20lakhs

(C) T 1lcrore

(D} T 50 lakhs

Where is the Special Economic Zone
established ?

(A) Bawal (B) Ambala

(C} Mahendragarh {D) Manesar

According to 2011 census, what is
the percentage of Literacy in

Haryana ?
(A) 62.40%
(C) 65.72%

(B) 85.6%
(D) 75.6%

66.

67.

68.

1857 # Wi B A W G0 3
Igasas ® T ST =
Fiaw
Tt - =t
A WEME -1 FEEET
B -ﬁ-ﬁ—_‘;\ 2 0 =
¢ fmm ” 3 wieEE S
p. TETE —e4 7@ AT E
¥ )
A g C D
(A) 1 2 3 A
8y 2 3 4
¢ & 3 2 1
ey 1 3 2 ¢’
Hefd ¥
(A] ¥aiA
(B) STEEIE=
(C) == ==

gfoamom ®tfw == E 2015 T IOEW
AT g9 O =T e aEE & HE
& AJE Gl W £

(A) 159
(8) T207@
)cq"nfftg
(D) 2 50FE
favie anfor &3 = = =8 =
"
A) T (B8) ==
(€) Te=TE (D) WEm
2011 A F FEW. FewEn 3§
AR WO S £ 2
(A) 62.40% ief" B5.6%
(C) 65.72% ) 75.6%
3/2015 (Gat. No. 1)
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70.

F ‘1.
W

72.

73.

T4,

5.

Which one of the following countries
wat  the partner pation In 29"
Soorajkund Fair, 2015 ?

(A) China (8) Turkey
1) Ltebnon (D) USA

Mear which district of Haryana Morni
hills are situated ?

(A) Panchkula (B) Karnal
€} Yamunanagar (D) Ambala

Yamuna enters Haryana from the
dictnct ol

(A) Kaithal
(B) Karnal
(C) Ambala
(L) Yamunanagar

arnaul 1s famous for mining of
(/) iron ore (B) gypsum

(C) slate (D) limestone

Match the following -

List =1 List =1l
(wildlife (District)
Sanctuary)
£ Bhindawas 1. Rewari
g Chhilchhila 2. Panchkula
¢ Bir Shikargarh 3, Kurukshetra
0. Mahar 4. Jhajjar
Codes
A B C D
(a) 4 3 5 1 D
B 2 i R
(C) <2 4 1 3
iy 3> 1 4 j’

The total forest cover area of
Haryana (According to FSI-2013) is

how many percent  of its
geographical area?
w 259% (&7

70, 293 wds A, 2015 | FEwH W
AWM
(a) <9 ' (B) =
(C) WA AD) 4TEL.
e & Teu B ¥ e Aeh
et fee € 2
(€) TN (0) 3=

(A) Fa
(8) AR
.{'r:) ST -
73. mﬁmwﬂrﬁﬂ‘mh
(a) de o (B) ﬁ“’“’__
© e : i

-
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.75' Arrange the following Chief Minister
in chronological order :
1. Shri Rao Birender 5ingh
2. 5hri Manoharlal Khattar
3. Shri Bansi Lal
4. Shri Bhagwad Dayal Sharma
Select the correct answer using the
codes given below :
(A) 4,1,3,2
{B) 1,4,3,2
{C} 2,1,4,3
(D} 1,2,3,4

77. Which  among the following
constituencies comes under Sirsa
District ?

(A) Dabwali
(B) Rania

(C}) Kalanwali
(D) All of these

78. The last assembly elections, 2014 in
Haryana were held for the

(A) Eleventh Legislative Assembly
(B) Tenth Legislative Assembly

(C) Ninth Legislative Assembly

(D) Thirteenth Legislative Assembly

79. Who among the following is known as
‘Kalidas of Haryana’ ?
(A) Deep Chand Bahman
(8) Kishan Lal Bhatt
(C) Pt. Lakhmi Chand
(D) Pandit Bhartu Qutbi

80. Mohinder Pratap Chand is a famous
poet, his poetry language is
(A) Hindi
(B) English
(C) Urdu
(D) (A)and (B)

76. FrofefeEn qeadadl Bl SRR Tatem

it

1 = v 9 ey
2. 5 TR A &
3. sSEE@ A

4. & WEs @ Il

9 fu T = IW@IT W T IW H
=g S G 1 %o
1,32

(8) 1.4,32
(€ 2,1,4.3
D) 1,2,3,4
77. St § @ =9 @ @ & W
formi % siela SR E 2
AB) Thm ﬁ:_w D
AT FeEE /"
A
78. efamn 7 feoe feum @, 2014 @
WY
(A) TaREEl faum T e
T faar w #
(C} it ferem = ¥
(D) Titeat fae w1 &
9. ) fretefam § & B R wE
— % A S S
(A) <9 TEA
(8) fememesg
i) . T
(D) dfed g F=

g80. wifist yam <% v whve wfa € |
T Y €

(A) &=

(B) 3=t
Jdeyr %

(D) (A) 3 (B)

Iy
—-f i
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